AIR FILTERS FOR COUNTY FACILITIES 23-053-FM BID FORM PRICING UPDATED 5.26.23

BID FORM PRICING UPDATED 05.26.23

NO	ITEM	UOM	QTY		PRICE	EXTE	NDED PRICE
CATIO	ON A: JTK ADMINISTRATION BUILDING						
1	MERV 8 PLEATED 24" x 24" x 2" UNIT NO: S-1 01012	EA	200	\$	4.71	\$	942.0
2	MERV 8 PLEATED 24" x 24" x 2" UNIT NO: S-2 01013	EA	200	\$	4.71	\$	942.0
3	MERV 8 PLEATED 24" x 24" x 2" UNIT NO: S-3 01058	EA	240	\$	4.71	\$	1,130.4
4	MERV 8 PLEATED 24" x 24" x 2" UNIT NO: S-4 (6) 01059	EA	80	\$	4.71	\$	376.8
5	MERV 8 PLEATED 16" x 25" x 4" UNIT NO: CR-1 01015	EA	12	\$	8.08	\$	96.9
6	MERV 8 PLEATED 16" x 25" x 4" UNIT NO: CR-2 01016	EA	12	\$	8.08	\$	96.9
7	MERV 8 PLEATED 16" x 25" x 4" UNIT NO: CR-3 01017	EA	12	\$	8.08	\$	96.9
8	MERV 8 PLEATED 24" x 18" x 2" UNIT NO: CR-4	EA	6	\$	4.06	\$	24.3
9	PURALATOR FACET - AIRE 3 OR EQUAL MODEL F312 OR EQUAL 14" X 20" X 1" UNIT NO: UPS 01032	EA	144	\$	2.91	\$	419.0
CATI	ON B: JAIL/SHERIFF DEPARTMENT						
	MERV 8 PLEATED	EA	120	1	4.71	•	602.5
10	MERV 8 PLEATED 24" x 24" x 2" UNIT NO: S-1 29024 MERV 8 PLEATED	EA EA	128	\$	4.71	\$	
	MERV 8 PLEATED 24" x 24" x 2" UNIT NO: S-1 29024 MERV 8 PLEATED 24" x 24" x 2" UNIT NO: S-1 29024 Airguard V-Force MERV 13 Double V-			-			
10	MERV 8 PLEATED 24" x 24" x 2" UNIT NO: S-1 29024 MERV 8 PLEATED 24" x 24" x 2" UNIT NO: S-1 29024			-			56.8
10	MERV 8 PLEATED 24" x 24" x 2" UNIT NO: S-1 29024 MERV 8 PLEATED 24" x 24" x 2" UNIT NO: S-1 29024 Airguard V-Force MERV 13 Style Plastic Frame With Header 20" x 24" x 12"	EA	12	\$	4.71	\$	56.£ 855.7
10 11 12	MERV 8 PLEATED 24" x 24" x 2" UNIT NO: S-1 29024 MERV 8 PLEATED 24" x 24" x 2" UNIT NO: S-1 29024 Airguard V-Force MERV 13 Style Plastic Frame With Header 20" x 24" x 12" UNIT NO: S-1 29024 Airguard V-Force MERV 13 Style Plastic Frame With Header 20" x 24" x 12" UNIT NO: S-1 29024 Airguard V-Force MERV 13 Style Plastic Frame With Header 20" x 24" x 12"	EA EA	12	\$	4.71 71.31	\$	602.8 56.8 855.7 213.9
10 11 12 13	MERV 8 PLEATED 24" x 24" x 2" UNIT NO: S-1 29024 MERV 8 PLEATED 24" x 24" x 2" UNIT NO: S-1 29024 Airguard V-Force MERV 13 Style Plastic Frame With Header 20" x 24" x 12" UNIT NO: S-1 29024 Airguard V-Force MERV 13 Style Plastic Frame With Header 20" x 24" x 12" UNIT NO: S-1 29024 Airguard V-Force MERV 13 Style Plastic Frame With Header 20" x 24" x 12" UNIT NO: S-1 29024 MERV 8 PLEATED 24" x 24" x 2"	EA EA	12	\$	4.71 71.31 71.31	\$ \$	56.8 855.7 213.9 282.0
10 11 12 13	MERV 8 PLEATED 24" x 24" x 2" UNIT NO: S-1 29024 MERV 8 PLEATED 24" x 24" x 2" UNIT NO: S-1 29024 Airguard V-Force MERV 13 Style Plastic Frame With Header 20" x 24" x 12" UNIT NO: S-1 29024 Airguard V-Force MERV 13 Style Plastic Frame With Header 20" x 24" x 12" UNIT NO: S-1 29024 Airguard V-Force MERV 13 Style Plastic Frame With Header 20" x 24" x 12" UNIT NO: S-1 29024 MERV 8 PLEATED 24" x 24" x 2" UNIT NO: S-2 29026 MERV 8 PLEATED 12" x 24" x 2"	EA EA EA	12 12 3	\$ \$	4.71 71.31 71.31 4.71	\$ \$	56.8 855.7 213.9
10 11 12 13 14	MERV 8 PLEATED 24" x 24" x 2" UNIT NO: S-1 29024 MERV 8 PLEATED 24" x 24" x 2" UNIT NO: S-1 29024 Airguard V-Force MERV 13 Style Plastic Frame With Header 20" x 24" x 12" UNIT NO: S-1 29024 Airguard V-Force MERV 13 Style Plastic Frame With Header 20" x 24" x 12" UNIT NO: S-1 29024 MERV 8 PLEATED 24" x 24" x 2" UNIT NO: S-2 29026 MERV 8 PLEATED 12" x 24" x 2" UNIT NO: S-2 29026 PLEATED MERV 14 PLEAT BEVERAGE BOARD FRAME 24" X 24" X 4"	EA EA EA	12 12 3 60	\$ \$ \$ \$ \$	4.71 71.31 71.31 4.71 3.25	\$ \$ \$	56.8 855.7 213.9 282.6

AIR FILTERS FOR COUNTY FACILITIES
23-053-FM
BID FORM PRICING UPDATED 5.26.23

NO	ITEM	MOU	QTY	PRICE	EXTE	NDED PRICE
19	MERV 8 PLEATED PLEAT BEVERAGE BOARD FRAME 12" X 24" X 2" UNIT NO.: UNIT NO.: S-3 29028	EA	20	\$ 26.78	\$	535.60
20	PLEATED MERV 14 PLEAT BEVERAGE BOARD FRAME 24" X 24"X 4" UNIT NO.: UNIT NO.: S-3 29028	EA	15	\$ 62.07	\$	931.0
21	PLEATED MERV 14 PLEAT BEVERAGE BOARD FRAME 12" X 24" X 4" UNIT NO.: UNIT NO.: S-3 29028	EA	5	\$ 44.20	\$	221.00
22	MERV 8 PLEATED 24" X 24" X 2" UNIT NO.: S-4 29030	EA	128	\$ 4.71	\$	602.8
23	MERV 8 PLEATED 12" X 24" X 2"0 UNIT NO.: S-4 29030	EA	12	\$ 3.25	\$	39.0
24	Airguard V-Force MERV 13 20" X 24" X 12" UNIT NO.: S-4 29030	EA	12	\$ 71.31	\$	855.7
25	Airguard V-Force MERV 13 12" X 24" X 12" UNIT NO.: S-4 29030	EA	3	\$ 54.28	\$	162.8
26	MERV 8 PLEATED 24" X 24" X 2" UNIT NO.: S-5 29032	EA	24	\$ 4.71	\$	113.0
27	MERV 8 PLEATED 12" X 24" X 2" UNIT NO.: S-5 29032	EA	12	\$ 3.25	\$	39.0
28	MERV 8 PLEATED 24" X 24" X 2" UNIT NO.: S-6 29034	EA	36	\$ 4.71	\$	169.5
29	MERV 8 PLEATED 12" X 24" X 2" UNIT NO.: S-6 29034	EA	12	\$ 3.25	\$	39.0
30	MERV 8 PLEATED 24" X 24" X 2" UNIT NO.: S-7 & 7A 29021	EA	76	\$ 4.71	\$	357.9
31	MERV 8 PLEATED 12" X 24" X 2" UNIT NO.: S-7 & 7A 29021	EA	12	\$ 3.25	\$	39.0
32	HEPA TRI- DIM MODEL 71711232301 HEPA 99.97% OR EQUIVALENT 24" X 24" X 11.5" UNIT NO.: S-7 & 7A 29021	EA	13	\$ 399.69	\$	5,195.9
33	HEPA TRI- DIM MODEL 71711232301 HEPA 99.97% OR EQUIVALENT 12" X 24" X 11.5" UNIT NO.: S-7 & 7A 29021	EA	3	\$ 258.83	\$	776.4
34	MERV 8 PLEATED 16" X 20" X 2" UNIT NO.: AHU-1 29115	EA	64	\$ 3.37	\$	215.6
35	MERV 8 PLEATED 24" X 24" X 2" UNIT NO.; AHU-2 29117	EA	24	\$ 4.71	\$	113.0
36	MERV 8 PLEATED 20" X 24" X 2" UNIT NO.: AHU-2 29117	EA	8	\$ 4.34	\$	34.7
37	MERV 14 MINI PLEAT PLASTIC FRAME WITH HEADER BOX FILTER 24" X 24" X 6" UNIT NO.: AHU-2 29117	EA	6	\$ 82.66	\$	495.9

NO	ITEM	MOU	QTY	PRICE	EXTE	NDED PRICE
38	MERV 14 MINI PLEAT PLASTIC FRAME WITH HEADER BOX FILTER 20" X 24" X 6" UNIT NO.: AHU-2 29117	EA	2	\$ 74.95	\$	149.90
39	MERV 8 PLEATED 16" X 20" X 2" UNIT NO.: AHU-3 29119	EA	64	\$ 3.37	\$	215.68
40	MERV 8 PLEATED 24" X 24" X 2" UNIT NO.: AHU-4 29120	EA	120	\$ 4.71	\$	565.20
41	MERV 14 MINI PLEAT PLASTIC FRAME WITH HEADER BOX FILTER 24" X 24" X 6" UNIT NO.: AHU-4 29120	EA	30	\$ 82.66	\$	2,479.80
42	MERV 8 PLEATED 24" X 24" X 2" UNIT NO.: AHU-5 29121	EA	120	\$ 4.71	\$	565.20
43	MERV 14 MINI PLEAT PLASTIC FRAME WITH HEADER BOX FILTER 24" X 24" X 6" UNIT NO.: AHU-5 29121	EA	30	\$ 82.66	\$	2,479.80
44	MERV 8 PLEATED 24" X 24" X 2" UNIT NO.: AHU-6 29122	EA	120	\$ 4.71	\$	565.2
45	MERV 14 MINI PLEAT PLASTIC FRAME WITH HEADER BOX FILTER 24" X 24" X 6" UNIT NO.: AHU-6 29122	EA	30	\$ 82.66	\$	2,479.80
46	MERV 8 PLEATED 24" X 24" X 2" UNIT NO.: AHU-7 29123	EA	120	\$ 4.71	\$	565.2
47	BOX FILTER- MERV 14 24" X 24" X 6" UNIT NO.: AHU-7 29123	EA	30	\$ 82.66	\$	2,479.8
48	MERV 8 PLEATED 24" X 24" X 2" UNIT NO.: AHU-8 29124	EA	120	\$ 4.71	\$	565.2
49	BOX FILTER- MERV 14 24" X 24" X 6" UNIT NO.: AHU-8 29124	EA	30	\$ 82.66	\$	2,479.8
50	MERV 8 PLEATED 24" X 24" X 2" UNIT NO.: AHU-9 29154	EA	8	\$ 4.71	\$	37.6
51	BOX FILTER- MERV 14 24" X 24" X 6" UNIT NO.: AHU-9 29154	EA	2	\$ 82.66	\$	165.3
52	MERV 8 PLEATED 20° X 24" X 2" UNIT NO.: AHU- 10 29155	EA	8	\$ 4.71	\$	37.6
53	MERV 8 PLEATED 24" X 24" X 2" UNIT NO.: AHU- 10 29155	EA	24	\$ 4.71	\$	113.0
54	BOX FILTER- MERV 14 20" X 24" X 6" UNIT NO.: AHU- 10 29155	EA	2	\$ 74.95	\$	149.9
55	BOX FILTER- MERV 14 24" X 24" X 6" UNIT NO.: AHU- 10 29155	EA	6	\$ 82.66	\$	495.9
56	MERV 8 PLEATED 24" X 24" X 4" UNIT NO.: F-13 29135	EA	144	\$ 9.78	\$	1,408.3
57	MERV 8 PLEATED 20" X 24" X 2" ELV MACH RM. 1,2 & 3	EA	48	\$ 4.34	\$	208.3

	BID FORM PRICING UP			1		B-1-1	
NO	ITEM	UOM	QTY		PRICE	EXT	ENDED PRICE
58	MERV 8 PLEATED 16" X 20 X 1" Actual Size: 15-1/2" X 19-1/2" X 3/4" UNIT NO.: Cicil AC Unit 29525	EA	8	\$	3.13	\$	25.04
59	MERV 8 PLEATED 25" X 20" X 4" UNIT NO.: CRU-1 29150	EA	8	\$	9.08	\$	72.64
60	MERV 8 PLEATED 25" X 16" X 4" UNIT NO.: CRU-1 29150	EA	4	\$	8.08	\$	32.32
61	MERV 8 PLEATED 25" X 20" X 4" UNIT NO.: CRU-2 29151	EA	8	\$	9.08	\$	72.64
62	MERV 8 PLEATED 25" X 16" X 4" UNIT NO.: CRU-2 29151	EA	4	\$	8.08	\$	32.32
63	MERV 8 PLEATED 24" X 24" X 2" UNIT NO.: LAUN- DRY MAKE- UP 29128	EA	20	\$	4.71	\$	94.20
64	MERV 8 PLEATED 12" X 24" X 2" UNIT NO.: LAUN- DRY MAKE- UP 29128	EA	20	\$	3.25	\$	65.00
		NB: J	AIL/SHERIFF	DEPA	RTMENT - TOTAL	\$	34,822.97
LOCATIO	ON C: BUILDING #02			1			
65	MERV 8 PLEATED 20" X 25" X 2" UNIT NO.: AHU-1	EA	48	\$	4.34	\$	208.32
66	MERV 8 PLEATED 24" X 24" X 4" UNIT NO.: ENERGY WHEEL	EA	32	\$	9.78	\$	312.96
67	MERV 8 PLEATED 24" X 24" X 4" UNIT NO.: ENERGY WHEEL	EA	32	\$	9.78	\$	312.96
68	MERV 8 PLEATED 24" X 24" X 2" UNIT NO.: AHU-2	EA	24	\$	4.71	\$	113.04
69	ACTIVE CARBON HONEYCOMB BEVERAGE BOARD (NOT PLEATED, HONEYCOMB STYLE) 24" X 24" X 2" UNIT NO.: AHU-3	EA	24	\$	103.90	\$	2,493.60
		L	OCATION C	BUILD	ING #02 - TOTAL	\$	3,440.88
LOCATION	ON D: CORONER'S OFFICE			T			
70	MERV 8 PLEATED 16" X 32" X 2" UNIT NO.: AHU 1.1	EA	8	\$	26.60	\$	212.80
71	HEPA 24" X 24" X 11.5" TRI- DIM ALUMMINUM FRAME KNIFE EDGE GEL SEAL 99.99% 24" X 24" X 2" UNIT NO.: AHU 1.1	EA	2	\$	368.58	\$	737.16
72	HEPA 24" X 12" X 11.5" TRI- DIM ALUMMINUM FRAME KNIFE EDGE GEL SEAL 99.99% 12" X 24" X 2" UNIT NO.: AHU 1.1	EA	2	\$	286.67	\$	573.34
73	MERV 8 PLEATED 16" X 32" X 2" UNIT NO.; AHU 1.2	EA	8	\$	26.60	\$	212.80
74	HEPA 24" X 24" X 24" X 11.5" TRI- DIM ALUMMINUM FRAME KNIFE EDGE GEL SEAL 99.99% 24" X 24" X 2" UNIT NO.: AHU 1.2	EA	2	\$	368.58	\$	737.16

BID FORM PRICING UPDATED 5.26.23

NO	ITEM	UOM	QTY	PRICE	EXTE	NDED PRICE
75	HEPA 24" X 12" X 11.5" TRI- DIM ALUMMINUM FRAME KNIFE EDGE GEL SEAL 99.99% 12" X 24" X 2" UNIT NO.: AHU 1.2	EA	2	\$ 286.67	\$	573.34
76	MERV 8 PLEATED 16" X 20" X 2" UNIT NO.: AHU 2.1	EA	16	\$ 3.37	\$	53.92
77	MERV 8 PLEATED 16" X 20" X 2" UNIT NO.: AHU 2.2	EA	16	\$ 3.37	\$	53.92
		OCATI	ON D: CORO	NER'S OFFICE - TOTA	L \$	3,154.44
OCATI	ON E: SHERIFF'S WORK ALTERNATIVE PROGRAM (SWAP)				Î	
78	FIBERGLASS MEDIA CHIPBOARD FRAME PUROLATOR MODEL F312 OR EQUAL 20" X 25" X 1" UNIT NO.: 15001	EA	4	\$ 2.93	\$ \$	11.72
		-	LOCA	TION E: SWAP - TOTA	L \$	11.72
LOCATI	ON F: SHERIFF'S RADIO TOWER			1		
79	FIBERGLASS MEDIA CHIPBOARD FRAME PUROLATOR MODEL F312 OR EQUAL 14" X 25" X 1" UNIT NO.: 36001	EA	4	\$ 2.97	\$	11,64
80	FIBERGLASS MEDIA CHIPBOARD FRAME PUROLATOR MODEL F312 OR EQUAL 14" X 25" X 1" UNIT NO.: 36002	EA	4	\$ 2.9	\$	11.64
		TION F:	SHERIFF'S	RADIO TOWER - TOTA	L \$	23.28
LOCATI	ON G: JUDICIAL ANNEX					
81	MERV 14 MINI PLEAT PLASTIC FRAME WITH HEADER BOX FILTER 24" X 24" X 6" WEST UNIT NO.: AHU 47002	EA	56	\$ 82.66	\$	4,628.96
82	MERV 14 MINI PLEAT PLASTIC FRAME WITH HEADER BOX FILTER 24" X 12" X 6" WEST UNIT NO.: AHU 47002	EA	18	\$ 59.5	\$	1,071.18
83	MERV 8 PLEATED 24" X 24" X 2" WEST UNIT NO.: AHU 47002	EA	56	\$ 4.7	\$	263.76
84	MERV 8 PLEATED 24" X 24" X 2" WEST UNIT NO.: AHU 47002	EA	364	\$ 4.7	\$	1,714.44
85	MERV 8 PLEATED 24" X 12" X 2" WEST UNIT NO.: AHU 47002	EA	24	\$ 3.25	\$	78.00
86	MERV 8 PLEATED 24" X 12" X 2" WEST UNIT NO.: AHU 47002	EA	108	\$ 3.29	\$	351.00
87	MERV 8 PLEATED 24" X 24" X 2" WEST UNIT NO.: AHU 47002	EA	56	\$ 4.7	\$	263.76
88	BOX FILTER- MERV 14 24" X 24" X 6" EAST UNIT NO.: AHU 47001	EA	56	\$ 82.66	\$	4,628.96
89	MERV 8 PLEATED 24" X 12" X 2" EAST UNIT NO.: AHU 47001	EA	24	\$ 3.29	5 \$	78.00
90	BOX FILTER- MERV 14 24" X 12" X 6" EAST UNIT NO.: AHU 47001	EA	22	\$ 59.5	\$	1,309.22
91	MERV 8 PLEATED 24" X 24" X 2" EAST UNIT NO.: AHU 47001	EA	380	\$ 4.7	\$	1,789.80
	2.0.011111011110111001		The second secon		-	

AIR FILTERS FOR COUNTY FACILITIES 23-053-FM BID FORM PRICING UPDATED 5.26.23

***	BID FORM PRICING (LIOM		T DE	RICE	EVTE	NDED PRICE
NO	ITEM	UOM	QTY	Pr	CICE	EXIE	NDED PRICE
92	MERV 8 PLEATED 24" X 12" X 2" EAST UNIT NO.: AHU 47001	EA	100	\$	3.25	\$	325.0
93	PLEATED 16" X 20" X 1" UNIT NO.: VAV'S	EA	300	\$	3.13	\$	939.00
94	FIBERGLASS MEDIA CHIPBOARD FRAME MODEL F312 OR EQUAL 8 7/8" X 19 1/8" X 1" CABINET HEATERS	EA	7	\$	4.95	\$	34.6
	ONDINET HEATENO	LOCA	TION G: JU	DICIAL ANN	EX - TOTAL	\$	17,475.7
OCATIO	ON H: DIVISION OF TRANSPORTATION						
95	MERV 8 PLEATED 20" X 25" X 2" UNIT NO.: 1403	EA	36	\$	4.34	\$	156.2
96	MERV 8 PLEATED 16" X 25" X 2" UNIT NO.: 1405	EA	24	\$	3.91	\$	93.8
97	MERV 8 PLEATED 20" X 20" X 2" UNIT NO.: 1406	EA	24	\$	3.82	\$	91.6
98	MERV 8 PLEATED 20" X 25" X 2" UNIT NO.: 1409	EA	8	\$	4.34	\$	34.7
99	MERV 8 PLEATED 16" X 20" X 2" UNIT NO.: 1410	EA	8	\$	3.37	\$	26.9
100	MERV 8 PLEATED 20" X 25" X 2" UNIT NO.: 1412	EA	48	\$	4.34	\$	208.3
101	MERV 8 PLEATED 16" X 25" X 2" UNIT NO.: 1413	EA	8	\$	3.91	\$	31.2
102	MERV 8 PLEATED 16" X 20" X 2" UNIT NO.: 1414	EA	12	\$	3.37	\$	40.4
103	MERV 8 PLEATED 20" X 20" X 2" UNIT NO.: 1414	EA	12	\$	3.82	\$	45.8
104	MERV 8 PLEATED 16" X 20" X 2" UNIT NO.: 1415	EA	16	\$	3.37	\$	53.9
	LOCATION	H: DIVISI	ON OF TRA	NSPORTATIO	ON - TOTAL	\$	783.2
OCATI	ON I: ANIMAL CONTROL	1 1		1			
105	MERV 8 PLEATED 16" X 20" X 2" ACU-1	EA	32	\$	3.37	\$	107.8
106	MERV 8 PLEATED 18" X 24" X 2" ACU-1	EA	32	\$	3.85	\$	123.2
107	MERV 8 PLEATED 24" X 24" X 2° ACU-1	EA	32	\$	4.71	\$	150.7
108	MERV 14 MINI PLEAT BEVERAGE BOARD FRAME 95% PLEATED (HI-CAPACITY) 24" X 24" X 4" ACU-1	EA	32	\$	62.07	\$	1,986.2
109	MERV 8 PLEATED 20" X 20" X 2" UNIT NO.: AHU-1	EA	16	\$	3.82	\$	61.1
110	MERV 8 PLEATED 20" X 20" X 1" UNIT NO.: RETURN AIR VENTS	EA	198	\$	3.51	\$	694.9
		LOCA	TION I: ANII	TAL CONTR	OL TOTAL		3,124.1

NO	ITEM	UOM	QTY	PRICE	EXT	NDED PRICE
111	MERV 8 PLEATED 24" X 24" X 2" UNIT NO.: AHU-1 33027	EA	392	\$ 4.71	\$	1,846.32
112	MERV 8 PLEATED 12" X 24" X 2" UNIT NO.: AHU-1 33027	EA	56	\$ 3.25	\$	182.00
113	MERV 8 PLEATED 24" X 24" X 2" UNIT NO.: AHU-1 33027	EA	28	\$ 4.71	\$	131.88
114	4V MERV 13 ULTRA XV 24" X 24" X 12 UNIT NO.: AHU-1 33027	EA	70	\$ 128.43	\$	8,990.10
115	MERV 13 ULTRA XV 12" X 24" X 12 UNIT NO.: AHU-1 33027	EA	14	\$ 85.50	\$	1,197.00
116	MERV 8 PLEATED 24" X 24" X 2" UNIT NO.: AHU-2 33028	EA	392	\$ 4.71	\$	1,846.32
117	MERV 8 PLEATED 12" X 24" X 2" UNIT NO.: AHU-2 33028	EΑ	56	\$ 3.25	\$	182.00
118	MERV 8 PLEATED 24" X 24" X 2" UNIT NO.: AHU-2 33028	EA	28	\$ 4.71	\$	131.88
119	MERV 13 ULTRA XV DIM ULTRA XV V-CELL OR EQUIVALENT 24" X 24" X 12 UNIT NO.: AHU-2 33028	EA	70	\$ 128.43	\$	8,990.10
120	MERV 13 ULTRA XV DIM ULTRA XV V-CELL OR EQUIVALENT 12" X 24" X 12 UNIT NO.: AHU-2 33028	EA	14	\$ 85.50	\$	1,197.00
121	MERV 8 PLEATED 20" x 24" x 2" UNIT NO.: AHU-5	EA	48	\$ 4.34	\$	208.32
122	MERV 8 PLEATED 20" x 20" x 2" UNIT NO.: AHU-5	EA	96	\$ 3.82	\$	366.72
123	MERV 11 MINI PLEAT BEVERAGE BOARD FRAME 95% PLEATED (HI-CAPACITY) 20" X 24" X 4" UNIT NO.: AHU-5	EA	8	\$ 55.95	\$	447.60
124	MERV 11 MINI PLEAT BEVERAGE BOARD FRAME 95% PLEATED (HI-CAPACITY) 20" X 20" X 4" UNIT NO.: AHU-5	EA	16	\$ 54.54	\$	872.64
125	POTASSIUM PERMANSANTE CARBON FILTERS WITH HEADER 24" X 24" X 12" UNIT NO.: AHU-5	EA	15	\$ 376.77	\$	5,651.55
126	TRI-DIM TRI-SORB V. METAL FRAME WITH HEADER POTASSIUM PERMANSANTE CARBON FILTERS WITH HEADER 12" X 24" X 12" UNIT NO.: AHU-5	EA	5	\$ 309.49	\$	1,547.45
127	MERV 8 PLEATED 16" X 25" X 2" UNIT NO.: AHU-6 (2) 33032	EA	24	\$ 3.91	\$	93.84
128	MERV 8 PLEATED 20" X 16" X 2"	EA	16	\$ 3.37	\$	53.92
129	MERV 8 PLEATED 20" X 20" X 2" UNIT NO.: AHU-7 (3) 33033	EA	16	\$ 3.82	\$	61.12

NO	ITEM	MOU	QTY		PRICE	EXTE	NDED PRICE
130	MERV 14 MINI PLEAT PLASTIC FRAME WITH HEADER BOX FILTER 20" X 16" X 6" UNIT NO.: AHU-7 (3) 33033	EA	4	\$	64.05	\$	256.2
131	MERV 14 MINI PLEAT PLASTIC FRAME WITH HEADER BOX FILTER 20" X 20" X 6" UNIT NO.: AHU-7 (3) 33033	EA	4	\$	69.04	\$	276.1
132	MERV 8 PLEATED 20" X 20" X 2" UNIT NO.: AHU-8 (4) 33034	EA	20	\$	3.82	\$	76.4
133	MERV 8 PLEATED 20" X 24" X 2" UNIT NO.: AHU-8 (4) 33034	EA	40	\$	4.34	\$	173.6
134	BOX FILTER- MERV 14 20" X 20" X 6" UNIT NO.: AHU-8 (4) 33034	EA	5	\$	69.04	\$	345.2
135	BOX FILTER- MERV 14 20" X 24" X 6" UNIT NO.: AHU-8 (4) 33034	EA	10	\$	74.95	\$	749.5
136	95% BAG FILTERS (22" BAG 6 POCKETS) 20" X 20" UNIT NO.: AHU-9 33078	EA	2	\$	34.29	\$	68.5
137	MERV 8 PLEATED 20" X 20" X 2" UNIT NO.: AHU-9 33078	EA	8	\$	3.82	\$	30.8
138	MERV 8 PLEATED 24" X 24" X 2" UNIT NO.: AHU-10 33139	EA	8	\$	4.71	\$	37.0
139	MERV 8 PLEATED 12" X 24" X 2" UNIT NO.: AHU-10 33139	EA	12	\$	3.25	\$	39.0
140	MERV 14 MINI PLEAT PLASTIC FRAME WITH HEADER BOX FILTER 24" X 24" X 4" UNIT NO.: AHU-10 33139	EA	4	\$	62.07	\$	248.2
141	MERV 14 MINI PLEAT PLASTIC FRAME WITH HEADER BOX FILTER 12" X 24" X 4" UNIT NO.: AHU-10 33139	EA	6	\$	44.20	\$	265.
142	MERV 8 PLEATED 28 ½" X 29 ½" X 4" UNIT NO.: LIEBERT #1 (5) 33064	EA	4	\$	39.86	\$	159.
143	MERV 8 PLEATED 20" X 25" X 4" UNIT NO.: LIEBERT #2 (5) 33065	EA	8	\$	9.23	\$	73.
144	MERV 8 PLEATED 16" X 20" X 4" UNIT NO.: LIEBERT #2 (5) 33065	EA	20	\$	7.59	\$	151.
145	MERV 8 PLEATED 20" X 20" X 1" UNIT NO.: FTU-1 33134	EA	6	\$	3.51	\$	21,
146	MERV 8 PLEATED 20" X 20" X 1" UNIT NO.: FTU-2 33035	EA	6	\$	3.51	\$	21.
147	MERV 8 PLEATED 20" X 20" X 1" UNIT NO.: FTU-3 33136	EA	6	\$	3.51	\$	21.
148	MERV 8 PLEATED 20" X 20" X 1" UNIT NO.: FTU-4 33137	EA	6	\$	3.51		21.
		ION J:	JUDICIAL OF	FICE	ACILITY - TOTAL	\$	37,033.

BID FORM PRICING UPDATED 5.26.23

NO	ITEM	MOU	QTY		PRICE	EXTE	NDED PRICE
149	6 POCKET 95% BAG FILTER 24" X 24" X 22" UNIT NO.: S-1 19005	EA	24	\$	31.20	\$	748.86
150	MERV 8 PLEATED 24" X 24" X 2" UNIT NO.: S-1 19005	EA	96	\$	4.71	\$	452.10
151	MERV 8 PLEATED 12" X 24" X 2" UNIT NO.: S-2 19006	EA	12	\$	3.25	\$	39.00
152	MERV 8 PLEATED 24" X 24" X 2" UNIT NO.: S-2 19006	EA	36	\$	4.71	\$	169.5
153	6 POCKET 95% BAG FILTER 12" X 24" X 22" UNIT NO.: S-2 19006	EA	3	\$	31.70	\$	95.1
154	6 POCKET 95% BAG FILTER 24" X 24" X 22" UNIT NO.: S-2 19006	EA	9	\$	31.20	\$	280.8
155	MERV 8 PLEATED 20" X 24" X 2" UNIT NO.: RT-1 19062	EA	40	\$	4.34	\$	173.6
156	MERV 8 PLEATED 20" X 24" X 2" UNIT NO.: RT-2 19063	EA	40	\$	4.34	\$	173.6
157	MERV 8 PLEATED 20" X 24" X 2" UNIT NO.: UNIT-1 19019	EA	40	\$	4.34	\$	173.6
158	MERV 8 PLEATED 20" X 25" X 2" UNIT NO.: UNIT-2 19020	EA	72	\$	4.34	\$	312.4
159	FIBERGLASS MEDIA CHIPBOARD FRAME PUROLATOR MODEL F312 OR EQUAL 16" X 20" X 1" UNIT NO.: VAV BOXES	EA	6	\$	2.91	\$	17.4
	ONIT NO.: VAY BOXES				1	\$	2,636.1
OCATIO	ON L: DUPAGE CARE CENTER			-			
160	MERV 8 PLEATED 12" X 24" X 2" ROOM G17 UNIT NO.: S-4 04032	EA	12	\$	3.25	\$	39.0
161	MERV 8 PLEATED 24" X 24" X 2" ROOM G17 UNIT NO.: S-4 04032	EA	12	\$	4.71	\$	56.5
162	4 POCKET 95% BAG FILTER 12" X 24 X 22" ROOM G17 UNIT NO.: S-4 04032	EA	3	\$	23.53	\$	70.5
163	6 POCKET 95% BAG FILTER 12" X 24" X 22" ROOM G17 UNIT NO.: S-4 04032	EA	3	\$	31.70	\$	95.1
164	MERV 8 PLEATED 24" X 24" X 2" ROOM G15 UNIT NO.: S-1 (up-stream) 04001	EA	24	\$	4.71	\$	113.0
165	6 POCKET 95% POLY BAG 24" X 24" X 22" ROOM G15 UNIT NO.: S-1 (up-stream) 04001	EA	6	\$	31.20	\$	187.2
166	MERV 8 PLEATED 24" X 24" X 2" UNIT NO.: S-2 (up-stream) 04002	EA	64	\$	4.71	\$	301.4
167	6 POCKET 95% POLY BAG 24" X 24" X 22" UNIT NO.: S-2 (up-stream) 04002	EA	16	\$	31.20	\$	499.2
168	MERV 8 PLEATED 24" X 24" X 2" UNIT NO.: S-1 04050	EA	16	\$	4.71	\$	75.3

AIR FILTERS FOR COUNTY FACILITIES
23-053-FM
BID FORM PRICING UPDATED 5.26.23

BID FORM PRICING UPDATED 5.26.23

NO	ITEM	UOM	QTY	PRICE	EXTE	NDED PRICE
169	95% AEROCELLS W/O HEADER PUROLATOR AEROCELL OR EQUAL 24" X 24" X 12" UNIT NO.: S-1 04050	EA	4	\$ 86.53	\$	346.12
170	MERV 8 PLEATED 12" X 24" X 2" UNIT NO.: S-2	EA	4	\$ 3.25	\$	13.00
171	MERV 8 PLEATED 24" X 24" X 2" UNIT NO.: S-2	EA	4	\$ 4.71	\$	18.84
172	95% AEROCELLS W/O HEADER PUROLATOR AEROCELL OR EQUAL 12" X 24" X 12" UNIT NO.: S-2	EA	1	\$ 63.25	\$	63.25
173	95% AEROCELLS W/O HEADER 24" X 24" X 12" UNIT NO.: S-2	EA	1	\$ 86.53	\$	86.53
174	MERV 8 PLEATED 20" X 25" X 2" UNIT NO.: S-5 04066	EA	32	\$ 4.34	\$	138.88
175	MERV 14 20" X 25" X 2" UNIT NO.: S-5 04066	EA	8	\$ 32.61	\$	260.88
176	GALVANIZED METAL MESH PANEL 26%" X 26%" X 1" UNIT NO.: S-2 04119	EA	8	\$ 115.30	\$	922.40
177	GALVANIZED METAL MESH PANEL 20" X 25" X 2" UNIT NO.: S-2 04119	EA	16	\$ 39.83	\$	637.28
178	MERV 8 PLEATED 16" X 20" X 2" UNIT NO.: S-3 04104	EA	24	\$ 3.37	\$	80.88
179	MERV 14 PLASTIC FRAME WITHOUT HEADER OR EQUAL 16" X 20" X 4" UNIT NO.: S-3 04104	EA	6	\$ 60.00	\$	360.00
180	MERV 8 PLEATED 20" X 25" X 2" UNIT NO.: S-4 04065	EA	24	\$ 4.34	\$	104.16
181	MERV 14 PLASTIC FRAME WITHOUT HEADER OR EQUAL 20" X 25" X 4" UNIT NO.: S-4 04065	EA	6	\$ 69.01	\$	414.06
182	MERV 8 PLEATED 20" X 25" X 2" RDR UNIT NO.: ROOF TOP	EA	24	\$ 4.34	\$	104.16
183	MERV 8 PLEATED 24" X 24" X 2" UNIT NO.: S-6 04106	EA	24	\$ 4.71	\$	113.04
184	6 POCKET 95% BAGS 24" X 24" X 26" UNIT NO.: S-6 04106	EA	6	\$ 33.34	\$	200.04
185	MERV 8 PLEATED 24" X 24" X 2" UNIT NO.; RETURN	EA	6	\$ 4.71	\$	28.26
186	MERV 8 PLEATED 24" X 24" X 2" UNIT NO.: S-7 04108	EA	32	\$ 4.71	\$	150.7
187	6 POCKET 95% BAGS 24" X 24" X 26" UNIT NO.: S-7 04108	EA	8	\$ 33.34	\$	266.7
188	MERV 8 PLEATED 24" X 24" X 2" UNIT NO.: RETURN	EA	8	\$ 4.71	\$	37.6
189	MERV 8 PLEATED 24" X 24" X 2" UNIT NO.: S-8 04110	EA	32	\$ 4.71	\$	150.7

AIR FILTERS FOR COUNTY FACILITIES 23-053-FM
BID FORM PRICING UPDATED 5.26.23

NO	ITEM	UOM	QTY	i i	PRICE	EXTE	NDED PRICE
190	6 POCKET 95% BAGS 24" X 24" X 26" UNIT NO.: S-8 04110	EA	8	\$	33.34	\$	266.72
191	PLEATED IN GLIDE PAK SIDE ACCESS HOUSING 12" X 24" X 4" UNIT NO.: AHU-1 (EAST WING) 04151	EA	20	\$	7.62	\$	152.40
192	PLEATED IN GLIDE PAK SIDE ACCESS HOUSING 24" X 24" X 4" UNIT NO.: AHU-1 (EAST WING) 04151	EA	40	\$	9.78	\$	391.20
193	MERV 14 MINI PLEAT PLASTIC FRAME WITH HEADER BOX FILTER 24" X 24" X 6" UNIT NO.: 2ND GLIDE PAK SIDE ACCESS BLD	EA	15	\$	82.66	\$	1,239.90
194	MERV 14 MINI PLEAT PLASTIC FRAME WITHOUT HEADER OR EQUAL BOX FILTER 12° X 24" X 6° UNIT NO.: 2ND GLIDE PAK SIDE ACCESS BLD	EA	5	\$	59.51	\$	297.55
195	PLEATED IN GLIDE PAK SIDE ACCESS HOUSING 24" X 24" X 4" UNIT NO.: RETURN	EA	10	\$	9.78	\$	97.80
196	PLEATED IN GLIDE PAK SIDE ACCESS HOUSING 12" X 24" X 4" UNIT NO.: RETURN	EA	5	\$	7,62	\$	38.10
197	MERV 8 PLEATED 24" X 24" X 2" UNIT NO.: ROOF-TOP LAUNDRY 04116	EA	16	\$	4.71	\$	75.36
198	MERV 8 PLEATED 12" X 24" X 2" UNIT NO.: ROOF-TOP LAUNDRY 04116	EA	16	\$	3.25	\$	52.00
199	BOX FILTER- MERV 14 24" X 24" X 6" UNIT NO.: ROOF-TOP LAUNDRY 04116	EA	4	\$	82.66	\$	330.64
200	BOX FILTER- MERV 14 12" X 24" X 6" UNIT NO.: ROOF-TOP LAUNDRY 04116	EA	4	\$	59.51	\$	238.04
201	PUROLATOR MODEL F312 PLEATED 7 1/2 " X 25 ¾" X 1" UNIT NO.: INDUCTION UNITS	EA	12	\$	8.58	\$	102.96
202	PUROLATOR MODEL F312 PLEATED 7 1/2" X 41 ½" X 1" UNIT NO.: INDUCTION UNITS	EA	4	\$	8.58	\$	34.32
203	PUROLATOR MODEL F312 PLEATED 7 1/2" X 43 ½" X 1" UNIT NO.: INDUCTION UNITS	EA	4	\$	8.64	\$	34.56
204	PUROLATOR MODEL F312 7 1/2" X 48 3/4" X 1" UNIT NO.: INDUCTION UNITS	EA	24	\$	8.64	\$	207.36
205	PUROLATOR MODEL F312 PLEATED 7 1/2" X 31" X 1" UNIT NO.: INDUCTION UNITS	EA	72	\$	5.36	\$	385.92
206	PUROLATOR MODEL F312 PLEATED 7 ½" X 57½" X 1" UNIT NO.: INDUCTION UNITS	EA	24	\$	9.28	\$	222.72
207	PUROLATOR MODEL F312 PLEATED 11" X 53" X 1" UNIT NO.: INDUCTION UNITS	EA	24	\$	10.19	\$	244.56

NO	ITEM	MOU	QTY		PRICE	EXTE	NDED PRICE
208	PUROLATOR MODEL F312 PLEATED 10" X 40" X 1" UNIT NO.: INDUCTION UNITS	EA	24	\$	9.28	\$	222.72
209	PUROLATOR MODEL F312 PLEATED 10" X 28" X 1" UNIT NO.: INDUCTION UNITS	EA	24	\$	8.64	\$	207.36
210	PUROLATOR MODEL F312 PLEATED 7 1/2" X 43 ½" X 1" EAST UNIT NO.: INDUCTION	EA	24	\$	8.64	\$	207.36
211	PUROLATOR MODEL F312 PLEATED 11" X 45 3/4" X 1" EAST UNIT NO.: INDUCTION	EA	24	\$	10.19	\$	244 .56
212	PUROLATOR MODEL F312 PLEATED 7 1/2" X 20" X 1" UNIT NO.: HVAC UNITS	EA	50	\$	5.04	\$	252.00
	LOCA	ATION I	.: DUPAGE	CARE CE	NTER - TOTAL	\$	11,481.18
OCATIO	ON M: POWER PLANT						
213	MERV 8 PLEATED 14.5" X 19 ¾" X 2" UNIT NO.: 3057	EA	8	\$	5.86	\$	46.88
214	PUROLATOR MODEL F312 PLEATED 8" X 43" X 1" UNIT NO.: 3087	EA	4	\$	8.72	\$	34.88
215	PUROLATOR MODEL F312 PLEATED 20" x 25" x 1" UNIT NO.: 3065	EA	8	\$	3.11	\$	24.88
216	PUROLATOR MODEL F312 PLEATED 13 ½" X 39 ½" X 1" UNIT NO.: 3061	EA	4	\$	10.19	\$	40.7€
217	MERV 8 PLEATED 20" X 25" X 2" UNIT NO.: 3069	EA	32	\$	4.34	\$	138.88
218	MERV 8 PLEATED 20" X 25" X 2" UNIT NO.: 3070	EA	32	\$	4.34	\$	138.88
219	MERV 8 PLEATED 20" X 25" X 2" UNIT NO.: 3071	EA	32	\$	4.34	\$	138.86
220	MERV 8 PLEATED 20" X 25" X 2" UNIT NO.: 3072	EA	16	\$	4.34		69.44
OCATI	ON N: JAIL ADDITION	LO	JATION MI	FOWER P	LANT - TOTAL	þ	633.48
221	MERV 8 PLEATED 24" X 20" X 2" UNIT NO.: S-1 FAN 29515	EA	80	\$	4.34	\$	347.20
222	MERV 8 PLEATED 16" X 20" X 2" UNIT NO.: S-1 FAN 29515	EA	16	\$	3.37	\$	53.92
223	6 POCKET 85% BAG 24" X 20" X 22" UNIT NO.: S-1 FAN 29515	EA	12	\$	34.79	\$	417.48
224	6 POCKET 85% BAG 20" X 20" X 22" UNIT NO.; S-1 FAN 29515	EA	12	\$	34.29	\$	411.48

NO	ITEM	UOM	QTY		PRICE	EXTE	NDED PRICE
225	MERV 8 PLEATED 20" X 25" X 2" UNIT NO.: S-2 FAN 29518	EA	24	\$	4.34	\$	104.16
226	*HEPA DOUBLEM HEADERS DIM MODEL 71711232301 HEPA 99.97% OR EQUIVALENT 24" X 24" X 11 1/2" UNIT NO.: S-2 FAN 29518	EA	6	\$	399.69	\$	2,398.14
		LO	CATION N:	JAIL ADDI	TION - TOTAL	\$	3,732.38
OCATIO	ON O: DOT HIGHWAY GARAGE			1			
227	PLEATED MERV 8 20" X 20" X 2" UNIT NO.: MAU-1 TRUCK BAY AREA WEST 28016	EA	48	\$	3.82	\$	183.36
228	PLEATED MERV 8 20" X 20" X 2" UNIT NO.: MAU-2 AUTO BAY AREA 28017	EA	48	\$	3.82	\$	183.36
229	PLEATED MERV 8 20" X 20" X 2" UNIT NO.: MAU-3 TRUCK BAY AREA EAST 28018	EA	48	\$	3.82	\$	183.36
230	PLEATED MERV 8 20" X 25" X 2" UNIT NO.: RTU-1 BREAKROOM/ PARTS 28019	EA	16	\$	4.34	\$	69.44
231	PLEATED MERV 8 20" X 25" X 2" UNIT NO.: RTU-2 OFFICE AREA/ PARTS 28020	EA	16	\$	4.34	\$	69.44
232	FIBERGLASS MEDIA CHIPBOARD FRAME PUROLATOR MODEL F312 OR EQUAL 12" X 12" X 1" UNIT NO.: BOILER-1 28001	EA	4	\$	3.22	\$	12.88
233	FIBERGLASS MEDIA CHIPBOARD FRAME PUROLATOR MODEL F312 OR EQUAL 12" X 12" X 1"	EA	4	\$	3.22	\$	12.86
	UNIT NO.: BOILER-2 28002	ATION (D: DOT HIGH	HWAY GAI	RAGE- TOTAL	\$	714.7
OCATIO	ON P: MUSEUM	-					
234	PLEATED MERV 8 12" X 24" X 2" UNIT NO.: 20011	EA	12	\$	3.25	\$	39.00
235	PLEATED MERV 8 24" X 24" X 2" UNIT NO.: 20011	EA	8	\$	4.71	\$	37.6
236	MERV 15 MINI PLEAT PLASTIC FRAME WITH HEADER 95% PLEATED (HI-CAPACITY) 12" X 24" X 4" UNIT NO.: 20011	EA	3	\$	60.16	\$	180.48
237	MERV 15 MINI PLEAT PLASTIC FRAME WITH HEADER 95% PLEATED (HI-CAPACITY) 24" X 24" X 4" UNIT NO.: 20011	ĒΑ	4	\$	80.91	\$	323.6
		-	LOCATION	ON P: MUS	EUM - TOTAL	S	580.86
LOCATI	ON Q: C.A.N.E.C. MERV 15 MINI PLEAT BEVERAGE BOARD			1			
238	95% PLEATED (HI-CAPACITY) 20" X 20" X 4" UNIT NO.: 55001	EA	20	\$	54.54	\$	1,090.8
239	MERV 15 MINI PLEAT BEVERAGE BOARD PLEATED (HI-CAPACITY) 20" X 24" X 4" UNIT NO.: 55001	EA	20	\$	55.95	\$	1,119.0
	11.	1	LOCATIO	N Q: C.A.N	I.E.C TOTAL	\$	2,209.8
LOCATI	ON R: STANDBY POWER FACILITY	-		-			
240	PLEATED MERV 8 18" X 25" X 2"	EA	4	\$	4.31	\$	17.2

NO	ITEM	MOU	QTY	PRICE	EXTENDED PRICE
	PLEATED MERV 8	- FA	40	\$ 3.91	\$ 62.5
241	16" X 25" X 2" UNIT NO.: 58016	EA	16	\$ 3.91	\$ 02.5
	UNIT NO 36016	LOCATION R: S	TANDBY PO	WER FACILITY - TOTAL	\$ 79.8
OCATIO	ON S: DU-COMM				
	PLEATED MERV 8				
242	24" X 24" X 2"	EA	24	\$ 4.71	\$ 113.0
	UNIT NO.: AHU-1				
243	PLEATED MERV 8 12" X 24" X 2"	EA	8	\$ 3.25	\$ 26.0
240	UNIT NO.: AHU-1				
244	95% PLEATED (HI-CAPACITY)				7440
	24" X 24" X 4"	EA	12	\$ 62.07	\$ 744.8
	UNIT NO.: AHU-1				
245	95% PLEATED (HI-CAPACITY) 12" X 24" X 4"	EA	4	\$ 44.20	\$ 176.8
	UNIT NO.: AHU-1				
	PLEATED MERV 8			205	\$ 156.0
246	12" X 24" X 2"	EA	48	\$ 3.25	\$ 156.0
_	UNIT NO.: AHU-2 PLEATED MERV 8				
247	12" X 24" X 2"	EA	72	\$ 3.25	\$ 234.0
	UNIT NO.: AHU-3				
	PLEATED MERV 8	FA	2	\$ 14.27	\$ 28.5
248	17" X 15" X 1" UNIT NO.: FPB-108	EA	2	\$ 14.27	20.0
	PLEATED MERV 8				
249	17" X 15" X 1"	EA	2	\$ 14.27	\$ 28.5
	UNIT NO.: FPB-120				
	PLEATED MERV 8	EA	0	\$ 14.27	\$ 28.5
250	14" X 12" X 1" UNIT NO.: FPB-121	EA	2	\$ 14.27	20.0
	PLEATED MERV 8				
251	17" X 15" X 1"	EA	2	\$ 14.27	\$ 28.5
	UNIT NO.: FPB-147				
252	PLEATED MERV 8 16" X 16" X 2"	EA	4	\$ 3.40	\$ 13.6
202	UNIT NO.: FCU-203.1	2.	•		
	PLEATED MERV 8				
253	16" X 20" X 2"	EA	4	\$ 3.37	\$ 13.4
	UNIT NO.: FCU-206.1				
254	PLEATED MERV 8 16" X 16" X 2"	EA	4	\$ 3.40	\$ 13.6
204	UNIT NO.: FCU-203.2				
	PLEATED MERV 8				
255	16" X 20" X 2"	EA	4	\$ 3.37	\$ 13.4
	UNIT NO.: FCU-206.2				
256	PLEATED MERV 8 20" X 25" X 4"	EA	4	\$ 9.23	\$ 36.9
	UNIT NO.: CRCU-1				
	PLEATED MERV 8			0.00	\$ 36.9
257	20" X 25" X 4" UNIT NO.; CRCU-2	EA	4	\$ 9.23	\$ 36.9
	PLEATED MERV 8			-	
258	20" X 25" X 4"	EA	4	\$ 9.23	\$ 36.9
	UNIT NO.: CRCU-3				
259	PLEATED MERV 8	EA	4	\$ 8.08	\$ 32.3
	16" X 25" X 4" UNIT NO.: CRCU-3	EA	*	0.00	52.0
-	PLEATED MERV 8				
260	20" X 25" X 4"	EA	4	\$ 9.23	\$ 36.9
	UNIT NO.: CRCU-4				
004	PLEATED MERV 8	EA	4	\$ 8.08	\$ 32.3
261	16" X 25" X 4" UNIT NO.: CRCU-4	-	7	0.00	1

BID FORM PRICING UPDATED 5.26.23

NO	ITEM	UOM	QTY	F	PRICE	EXT	ENDED PRICE
262	PLEATED MERV 8 8-11/16"x 31-3/4" x15/32" UNIT NO.: UNIT NO.: CUH-120	EA	2	\$	17.82	\$	35.64
263	PLEATED MERV 8 8-11/16"x 31-3/4" x15/32" UNIT NO.: UNIT NO.: CUH-122	EA	2	\$	17.82	\$	35.64
264	PLEATED MERV 8 8-11/16"x 31-3/4" x15/32" UNIT NO.: UNIT NO.: CUH-166	EA	2	\$	17.82	\$	35.64
0017	ON T: OFFICE OF EMERGENCY MANAGEMENT		LOCATIO	N S: DU-CO	MM - TOTAL	\$	1,938.24
265	PLEATED MERV 8 24" X 24" X 2" UNIT NO.: AHU-3	EA	24	\$	4.71	\$	113.04
266	PLEATED MERV 8 24° X 24° X 4" UNIT NO.: AHU-4	EA	8	\$	9.78	\$	78.24
267	PLEATED MERV 8 20" X 24" X 2" UNIT NO.: AHU-4	EA	16	\$	4.34	\$	69.44
207	01111 1107110 4						
201		ATION T: OFFICE OF EM	ERGENCY	MANAGEM	ENT - TOTAL	\$	260.72

ADDITIONAL ITEMS:

During the contract period, additional product line supplements not specified above may be accepted as additional contracted items. The acceptance of product line supplements or additional items is at the discretion of the buyer

Acceptable supplemental items may include items that become an upgrade of the goods or the services offered under this ITB. The County reserves the right not to award or add items for which prices are deemed high and not in the best interest of the County. Please attach net price list or catalog with discount of other items you carry that may be purchased from the awarded contract. Items which do not have established and auditable pricing SHALL NOT be purchased against this contract.

\$5,000.00 ANTICIPATED ANNUAL EXPENDITURE ON MISCELLANEOUS ITEMS NOT SPECIFIED IN GROUP I (SHOULD NOT EXCEED 20% OF ENTIRE CONTRACT EXPENDITURES).

SECTION 8 - BID FORM SIGNATURE PAGE

The Contractor agrees to provide the service, and/or supplies as described in this solicitation and subject, without limitation, to all specifications, terms, and conditions herein contained. Bidder shall acknowledge receipt of each addendum issued in the space provided on the bid form.

XSignature	on File	District	Sales Mar.
	(Signature		7

CORPORATE SEAL (If available)

BID MUST BE SIGNED AND NOTARIZED (WITH SEAL) FOR CONSIDERATION

Subscribed and sworn to before me this	day of	AD, 20
(Notary Public)	My Commission Expires:	
	SEAL	_

SECTION 9 - MANDATORY FORM AIR FILTERS FOR COUNTY FACILITIES 23-053-FM

(PLEASE TYPE OR PRINT THE FOLLOWING INFORMATION)

Full Name of Bidder Filter Solutions ILC Main Business Address 519 Senon 20 City, State, Zip Code 60439 LemonT Telephone Number Email Sales@ afsolutions co. com 773-410-8722 Address **Bid Contact Person** Reeves Mel The undersigned certifies that he is: the Owner/Sole a Member authorized to Officer a Member of the Joint Proprietor sign on behalf of the Corporation Venture Partnership Herein after called the Bidder and that the members of the Partnership or Officers of the Corporation are as follows: KUET BOLIN (President or Partner) (Vice-President or Partner) (Secretary or Partner) (Treasurer or Partner) Further, the undersigned declares that the only person or parties interested in this bid as principals are those named herein; that this bid is made without collusion with any other person, firm or corporation; that he has fully examined the proposed forms of agreement and the contract specifications for the above designated purchase, all of which are on file in the office of the Procurement Officer. DuPage County, 421 North County Farm Road, Wheaton, Illinois 60187, and all other documents referred to or mentioned in the contract documents, specifications and attached exhibits, including Addenda No. ___, ____, and ____ issued thereto. Further, the undersigned proposes and agrees, if this bid is accepted, to provide all necessary machinery, tools, apparatus,

Further, the undersigned proposes and agrees, if this bid is accepted, to provide all necessary machinery, tools, apparatus, and other means of construction, including transportation services necessary to furnish all the materials and equipment specified or referred to in the contract documents in the manner and time therein prescribed.

Further, the undersigned certifies and warrants that he is duly authorized to execute this certification/affidavit on behalf of the Bidder and in accordance with the Partnership Agreement or by-laws of the Corporation, and the laws of the State of Illinois and that this Certification is binding upon the Bidder and is true and accurate.

Further, the undersigned certifies that the Bidder is not barred from bidding on this contract as a result of a violation of either 720 Illinois Compiled Statutes 5/33 E-3 or 5/33 E-4, bid rigging or bid-rotating, or as a result of a violation of 820 ILCS 130/1 et seq., the Illinois Prevailing Wage Act.

The undersigned certifies that he has examined and carefully prepared this bid and has checked the same in detail before submitting this bid, and that the statements contained herein are true and correct.

If a Corporation, the undersigned, further certifies that the recitals and resolutions attached hereto and made a part hereof were properly adopted by the Board of Directors of the Corporation at a meeting of said Board of Directors duly called and held and have not been repealed nor modified, and that the same remain in full force and effect. (Bidder may be requested to provide a copy of the corporate resolution granting the individual executing the contract documents authority to do so.)

Further, the Bidder certifies that he has provided equipment, supplies, or services comparable to the items specified in this contract to the parties listed in the reference section below and authorizes the County to verify references of business and credit at its option.

Finally, the Bidder, if awarded the contract, agrees to do all other things required by the contract documents, and that he will take in full payment therefore the sums set forth in the bidding schedule (subject to unit quantity adjustments based upon actual usage).

CONTRACT ADMINISTRATION INFORMATION:

CORRESPON	DENCE TO CONTRACTOR:	REMIT TO CO	NTRACTOR:	
NAME	Ar Filter Solutions ELC	NAME	Air Filter Solutions LLC	
CONTACT	Mel Reeves	CONTACT	KURT BOLIN	
ADDRESS	519 Senon Dr	ADDRESS	519 Senon Dr	
CITY ST ZIP	Lemont 1L 60439	CITY ST ZIP	Lemont 1L 60439	
TX	630 - 470 - 2888	TX	773-410-8723	
FX		FX		
EMAIL	melreassalutions co.com	EMAIL	Kurte afsolutions co. com	
COUNTY BILL	TO INFORMATION:	COUNTY SHIF	TO INFORMATION:	
DuPage Count	y Facilities Management Department	DuPage Count	y	
421 North County Farm Road		421 North County Farm Road		
Wheaton, IL 60187		Wheaton, IL 60187		
	ddress and invoicing information will each purchase order placed.	The shipping address and invoicing information will be included for each purchase order placed.		

ALL MATERIALS MUST BE BID AND SHIPPED F.O.B. DESTINATION, DELIVERED (FREIGHT INCLUDED IN PRICE)